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1 Introduction
RAN4 have discussed some considerations on setting the RRC Re-establishment Requirements in several meetings. In the contribution, we will provide more detailed analysis.
2 Discussion
In the last meeting, [1] proposed that RRC re-establishment Requirements can be expressed as following formula:
 TUE-re-establishment = TRRC-re-establishment + [TBD] ms + Tsearch + TSI + TRA
We suggest following cases should be considered when specifying the value of TSI in the requirement:
· Firstly, when UE resumes to the same cell after radio link failure or handover failure, UE doesn’t need to read system information again because UE can maintain such information used to access as L1 parameters, SFN, RACH parameters, etc. However, when UE resumes to another cell in the same eNB, due to that different cells in the same eNB are configured with different parameters, UE cannot use the information of the same cell to access the selected cell, i.e. UE doesn’t know necessary information to access the selected cell. Thus, in this case, UE must read new system information from the selected cell before access.

· Next, when handover failure occurs, if UE has already received HO command and resumes to the target cell indicated in HO command, UE also doesn’t need to read system information if it can obtain the system information through previous measurement and HO command. 

To sum up, UE doesn’t need to read system information in the following cases:

· UE resumes to the same cell.

· UE resumes to the target cell indicated in HO command and UE can obtain the system information through previous measurement and HO command.

Except for above cases, UE has to read system information from the selected cell before access.
Therefore, we propose TSI = 0 in the mentioned cases where UE doesn’t need to read system information. Otherwise, it is necessary to include the value of TSI into the requirement.
3 Conclusion
We have discussed further how to specify the value of TSI in RRC re-establishment requirements and hope RAN4 could take the analysis above into account when specifying the requirements. 
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